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TP
(UNIT—7)
1. (@) Rig &g fy .
=5y =3 P Z) %4
(a'xb’)+(b'xc')+(?><c?)=&‘;"_
=

[abd¢)
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Prove that :

If 7 is unit vector in the direction of ?, then prove

that :
=5 -
Fxdi =224
,.2
(@) emepdl wfer @ aRwrs SR | ar— a, b, ¢ @1 WH

- %
F=@+2y+az)i+@x-3y-2))

+(4x + ey + 22)k
arepeff 2
Define. irrotational vector. Find the value of the
constants a, b, ¢, if : '
- ~ A
F=(x+2y+az)i +(bx -3y -z)j

g +(4x +cpy+ 22)1;
is irrotational.

(A-58)
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FHE—2
(UNIT—2)

2 (@) W‘quﬁwﬁﬂﬂ’m—;ﬂ%ﬁ?ﬂ

@

oY AR

- -
rXx =0

QU

The necessary and sufficient condition is that the

-,
_ direction of vector r 'is constant :

< -
rx =40

{5

firg IR s -
Hs(axf+by} + czle)-.ﬁdS=§—1t(a +b+0) :

WEt S T a2 42 422 =1 B IS B

Prove that :

4 : o 4 .

jjs.(axi +byj + czk).ndS=§1t(a +b+0)
where S is surface of sphere x? + iz =1
jc(xy+y2)dx+x2dy 3 fog wuad ¥ 9w

FT GTT BN, & C, y = x AR y=x% N

o & @ o B

(A-58) P. T. O.
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‘Verify Green’s theorem for :

[4] CD-2650

IC (xy + yz)dx + xzdy

in the plaﬁe, where C is boundary of the area

described by y =xand y = x2.
s
. (UNIT—3)
frg M 5 g s
x> +y?+2ax+c=0

qa x2+y2+2y+c=0

TH-T B e war Afe

1 1

pelighg onio
a®  b?

i

¢
Prove that the circles :

$ x2+y2 +2ax+c=0
énd 2 +y?+2by+ec=0
will téuchf*’ to eacﬁ bther if :

o0

e B

Ife g1 Gy ATRETT B SHAN ¢, TA e,
i
z'i-g—l.

(A-58)
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If ¢ and e, are eccentricities of two conjugate

hyperbolas, then show that :

_1_+i.-—1
e

1452 — 4xp + 112 — 44x — 58y + 71 = 0,
BT IGRET PR |
Trace the conic :

14x? —4xy +11y% - 44x - 58y + 71 =0

TPR—4
(UNIT—4)

R (-1, 3,2) ¥ S= 90 9@ S¥ 99 B
WWW,Fﬁmx+2y+22i5?f?jﬂ-
3x + 3y + 2z =8 waq 8|

Find the equation of that plane which passes to the
point (-1, ‘3, 2) and perpendicular to the plane
x+2y+2z=5and3x + 3y +2z=38.

fig B 5 e
2x-2y+z+ 12\=O
et :
x2+y2+22—2x;—4y+2z—“3=0

@ el e 2| vt Reg o AR

(A-58) P. T. O.
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Prove that the plane :
2x—2y+z+12=0

touches the sphere :

x2+3y2+22-2x-4y+2z-3=0.
Find the contact point.
S WE BT wdeww wa ey R o
(c,, B,7) © 3R IR @ 22 = 4ax, y =0 8|
Find the equation of that cone whose vertex is

(o, B, y) and base curve is z? = 4ax, y = 0.

FIE—5

(UNIT—5)

)
2l L
2

o 5 @4, 3, 5 W IWaA &1 wHBE F|
Eiiod "

Finnd the‘equatiOn of normal of the paraboloid .

w !"“{,,

2 3B
TRl Teg
at the point (4, 3,5).

; 2 D)
-'E-+y—+—z—=;.1 ;
a2 B el

PTEAG - 4L+l =]
a b c
ERT UR8T &1 &89%d S $IG |

(A-58)
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Find the area of ellipsoid :
2 2 2
X
Ry
a b c

which is intersected by the plane :

—+=4+—=1
a. b ¢
() afouRaer : ‘
2 /L
B A N
4 9 16
g (2,3, -4) A 90 @ 9 H D gfiewor
S| IR |
Find the equation of generators of hyperbola :
2 2 2
E__.*...)i_..‘f__ =1
4 9 16

at the point (2, 3, — 4).
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